
Würfel ansteuern: 
da highaktiv: 
Würfel 1= 10000  > 10h 
Würfel2= 01000 >08h 
Würfel3= 00100 >04h 
Würfel4= 00010 >02h 
Würfel5=00001 >01h 
 
 
LED´s ansteuern: 
 
Port:  0       1        2        3 
        ------------------------- 
        1        0       0         0     Zahl 1         Hexzahl:08h 
        0       0        0         1     Zahl 2         Hexzahl:01h 
       1        0        0         1    Zahl 3         Hexzahl:09h 
        0       0        1         1    Zahl 4         Hexzahl:03h 
        1       0        1          1   Zahl 5         Hexzahl:0Bh 
        0       1         1        1    Zahl 6         Hexzahl:07h 
 


